2017 (S) Roll No:

INTERMEDIATE PART-11 (12" CLASS)
CHEMISTRY PAPER-II (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68

NOTE: - Write same question number und its part number on answer book,
as given in the question paper.

SECTION-1

2. Atltempt any eight parts. Bx2=16

{1) Diamond is electrically insulator but graphite is fairly good conductor, Justify it,

(i)  Justify that lonization Energy value decreases down the graup.

(iii) ~ Write advantages of DownsCell for preparation of Sodium (Na) .

(iv)  Justify that €O, in excess when passed through Lime Water solution becomes clear.
Write reaction involved,

(V) Write down formulaof (i) Cryolite (i) Colemanite

(viy  How will you explain structure of Carbon Monoxide (CO)?

(vii) Write effect of temperature on N,(J, . Give colour change and reaction.

(viii) Justify that Aqua Regia can dissolve nearly all types of substances.

(ix)  What is the difference between Typical and Non-typical Transition elements?

(x)  How Steel is classified on the base of Carbon contents?

(xi)  Write only name of various sources which contaminate surface and ground water.

(xii) Write importance of gases present in the almosphere.

3 Attempt any eight parts. §x2=16

(1) Why HF is weaker acid than HC#7
(1)  What is Iodized Salt?

(iti)  Why there is no frec rotation around a double bond and a free rotation around a single bond?

{iv)  Define Functional Group lsomerism. Give one example.

(v) Alkanes are less reactive than Alkenes, Why?

(vi)y  Fthene can be converted into Ethyl Alcohol, Write equation.

(vii) Draw structural formulas for- (i) p— Nitroaniline (1) m — Nitrophenol
(viil} What happens when Chlorine is passed through Benzene in Sunlight”

(ix)  Define Nucleophilic substiwtion reactions. Giver their general mechanism.
(x)  Define Alkyl Halides. Which is the best method of preparing Alkyl Halides?
(k)  Write the structural formulas of*- (i) Ethyl Aleohol (i) Benzyl Alcohol
(xii) Deline Phenol. Give its two uses.

4. Atlempt any six parts. 6x2=12
(i) How will you distinguish chemically between Ethanol and Propanal?
(ii) How will you convert Ethanal into Lactic Acid?

(iii) How Amino Acids show basic charavter?

{iv}) What happens when Ammonium Acetate is heated?

(v) What is Nylon — 6,67

(vi) What is the difference between Fats and Oils?

(Vi) What is Saponification Number? Give an example.
(viii)  What happens when Ammonium Carbgmate is heated?
{ix) State the raw materials used for manufacture of Cement,

SECTION-1I
NOTE: - Attempt any three guestions. -
S.(u)  Discuss essential features of Periods in Modern Periodic Table.
(b)  Write four more important differences of Lithium from other Alkali metals.

6.(a) What do you mean by Corrosion? Fxplain electrochemical theory in detail.
(b} Discuss in detail the compeonents of the Environment.

7.4a)  What is Cracking? Explain types of Cracking.
(b)  How will vou carryout the following conversions:-
(i) CH, = CH,CH,COOH (iiy CH,-Cll; —-CH, —Ct —» CH, —CH =CH,

§.(a) Ilow will you prepare the following compounds starting from Ethyne?
(1) Acetaldehyde (i1} Acrylonitrile (111) Oxalie Acid {iv) Ethane
(by What 15 Aldol Condensation? Explain it with mechanism,

G(a) Discuss the structure of Benzene on the basis ol Atomic Orbital Treatment.
ib) Give chemical reactions to prepare Ethanol from Starch and Molasses by

a Fermentalion Process,
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P Code
e e 2017 (8) Roll No,

vumber. 448 | INTERMEDIATE PART-HI (12" CLASS)
CHEMISTRY PAPER-II (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for cach objective type question as A, B, C and I. The choice which vou
think is correct, fill that circle in front of that question number. Use murker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve gquestion on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Keeping in view the size of atoms, _order 15 corect oue.

(A) Adr > Sr (B L > Ce () Ba > Me (D) CE = i

(2)  Chile sallpetre has the chemical formula:-

(A) KNO, (B) Ne, 8.0, (C) NaNe), (D) Na,€'0,. 11,0
(3)  Tincal is a mineral of:-

(A AY (B) &i (C) (I &8

(4)  Laughing gas is chemically;-

(A) &,0 (B} NI (C) MO, (D) N0,
(3) __ isthe stronpest acid,
(AY ACIO (1) HCHO, (C) HCEa, (Dy HCEQ,
(0 Group V1B ol transition elements contains: -
(A) Cr, Mo, W {B) 2n, Cd. He (C) Fe, Ru,Os (D) Mn, Te, Re
(77 setofhyvbnd orbitals has planar triangular shape,
(A) 5p’ () sp' (C) sp (D) dsp’
(8}  Vinyl acetylene combines with AU w farm;-
{(A) Polvacuivlene (B) Benzene (C) Chloroprene (D) Dmvinylacetvleng
{9) During nifration of Benzene, the active mitrating agent 1s:-
(A) MO, (B) NO. (C) NO, (D} HNQ,
(10) _is pot a Nuelcophile.
(A) 1.0 (B) H.§ (C) NH, (D) BF,
(117  Rectified spirl contains Aleohol about:-
(A) 80 % (B) 85 % (C) 90 % (D) 95 %
(12)  Acetone reacts with HCN 1o form a eynohydin, It is an example of - (A) Nucleophilic addition
(1%} Ulectrophilic addition () Mucleophilic substitution (13) Llectrophilic substitution

(13)  Acetic acid is manufactured by:-
(A) Fermentation (B} Distillation () Ozenolysis {13y Esterification
(14)  Acetamide is prepared by:- (A) Heating Fthyl Acetate
(B) Heating Ammonium Acetate  (C) Heating Methyl Cvanide (D) Healing Acetic Acid
(153} _ poelymess is an addition pelymer.
[A) Polystyrens {(B) Nylan - 6, 6 (C) Tervlene {D) Epoxy rasin
{16}  Micro-nutrients are required in quantity ranging from:-
[Als—40g (B)6-200 ¢ (C)6-200 kg (D)4 - 40 kg

{17y  Fcosystem is a smaller unit ofi-

(A) Atmosphere (B) Lithosphere (C) Biosphere (D1 Hydrasphere
23{0b))(W)-2017(S)-/f £& (MULTAN)




Paper Code 2017 (S) Roll No.

~Number: 4483 INTERMEDIATE PART-II (12 CLASS)
CHEMISTRY PAPER-II (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective lype question us A, B, C and I, The choice which you
think is correct, fill that cirele in front of that gquestion number. Use marker or pen to fill the circles,
Cutting or filling two or more cireles will result in zero mark in that question. Attempt as many gueslions
as given in objective type question paper and leave others blank. No credit will be awarded in casc

BUBBLES are not filled. Do not solve guextion on this sheet of OBJECTIVE PAPER.
(Q).No.l1

(1y  _ polymersis an addition polviner,
(A Polystvrene (B) Nvlon - 6, 6 (C) Terylene {}) Epaxy resin
(2) Micro-nutrients are reguired in quantity ranging fram -
(A)d 40 ¢ (B)6 200 g (C) 6 200 ke (D) 4 — 40 kg
(3 Eensystem 15 a smaller unit of-
(A) Atmosphere (B) Lithosphere (C) Biosphere (D) Hydrosphere
(2] Keeping in view the size of moms.  order is correct one.
(A) Mg = 5r (B} fu=Ce (C) Ba> Mg (EN) kit
(3 Chile saltpetre has the chemical formula:-
(A K}"\"{?l (1) Na B0, (<) ."t-"ﬂ,""-."lfJ_. (L) .-"'.’HJ'.TJ,.HEU
(6)  Tincal s & mineral of:-
(A) AL (B) & () C© (L) &
(7)  Laughing gas is chemically:-
(A) N.O (B) N2 (C) NO, (1) .0,
(8)  isthe strongest acid.
(&) HOEO (B) HCEC, () 11T, (D) HUEO,
{9) Group VI B of transilion elements contains -
(A) Cr, Mo. W (13) “n, Cd, Ilg (C)y Fe, Ru,0s (DY Mu. Te, Re
(10)  ___ setof hybrid orbitals has planar triangular shape.
(A) sp’ (B) :.p" (C) ap (D) dsp
(11} Winyl acetylene combines with 107 o farm:-
(A) Polyacetylene  (B) Benzene {(*) Chleraprens (D) Divinylacetylene
(12} During mitration of Benzene, the active nitrating agent 1s:-
(A) NO, (B) NO? (C) NO; (D) HNO,
(13)  __ isnota Nucleophile.
(A) H,0 (B) H.§ (C) NH, (D) BF,
{14)  Rectified spirit conlains Aleohol about:-
{A) 80 %, {B) 85 % {C) 90 % (D) 95%
(13} Acetone reacts with JJCN to form a eynohydrin. It is an example o= (A) Nucleophilic addition
{B) Electrophilic addition () Nucleophilic substitution (1)) Electrophilic sehstitution

(16)  Acetic acid is mancfactured by:-
(A} Fermentation  {B) Distillation () Ozonolysis (1)) Esterification
17} Acctamide 1s prepared by:- (A) Heating Ethyl Acctate
(B) Heating Anumoniurn Acetate  (C) Heating Methyl Cyanide (1) Heating Acetic Acid
23(0b) ) PERr)-2017(5)-1600 (MULTAN)



Paper Code 2017 (S) Roll No.

sumber. 4485 | INTERMEDIATE PART-H (12 CLASS)
CHEMISTRY PAPER-II (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: Vou have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number, Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank., No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of ORJECTIVE PAPER.

(.No.l

(1) Vinyl acetylene combines with HC! to form:-

(A) Palvaeetvlene  (B) Benzere (C) Chloroprene (D) Divinvlucetylene
) During nitration of Benzene, the active nitrating agent is:-
(A} NG, (B) NO3 (C) NO, (D) HNO,
(3) iz nota Nucleophile
(A) H,0 (B} I1,§ (C) NH. (D) BE,
(4)  Rectificd spirit contains Alcohol about:-
{A) RO % (B) 85% (C) 90 %% (I 95 9%
(5) Acetone reacts with ACHN to form a eynohvdrin. Ttis an example of:--  [A) Nucleophilic addition
() Electrophilic addition () Nucleophilic substitution (17) Electrophilic substitution
(G) Acctic aeid 18 manufactured by:-
(A) Fermentation (13) Dhstillation () Ozonolvsis (1) Esterification
(7) Acetamide is prepared bv:- (A) Heating Tithyl Acetate

(B) Heating Ammonium Acetate  (C) Heating Methyl Cyanide  (13) Heating Acetic Acid
(%) polymers 1s an addilion polymer,

(A) Polystyrene (B)Nylon—6. 6 (C}) Terylene (D)) Epoxy resin
(9)  Micro-nutrients are required in quantity ranging from:-

(A)4-40 g (A6 - 200 g {CY6-200kp (D)4 —40 kg

(1) Ecosystem is g smaller unit ol:-

(A) Atmosphere (B} Lithosphere {C) Biosphere (D)) Hydrosphere
(L1} Keeping in view the size of atoms, _order 13 correct one.
(A) My > 5r (By Lu > Ce (C) Bu > Mo (D) CF >/

(12} Chile saltpetre has the chemiecal formula:-

(A} KNO, (B) Nu,B,0. (C) NaNO, (D) Na,£0,, 1,0
(13}  Tincal is a mineral of:-

A AL (By S ey (1 a4

(14}  Laughinp gas is chemically:-

(A) N.O (B) NO () NO, (D) N,0,
(13) _ isthe strongest acid

(A) HCEO (B)y HCe0, (C) HCic, () HCEO,
(16)  Group VI B of ransition elements contains: -

(A) . Cr, Mo, I {B) £n, Cd, Hy (C) Fe, Ru, Ox (D) An, Te. Re
(17y __ setof hybrid orbitals has planar triangular shape.

(A) sp° (B) p° (C) sp (D} dsp’

23(OB) VLT IEI-2017(S1-1600  (MULTAN)




Eapertude 2017 (S) Roll No.

Number: 4487 INTERMEDIATE PART-1I (12" CLASS)
CHEMISTRY PAPER-I1 (NEW SCHEME) (SESSION 2015-2017)

I'IME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: |7

Note: You have four choices for each ohjective type question as A, B, C and D). The ¢hoice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the eireles.
Cutting or filling two or more circles will result in zero mark in that guestion. Attempt us many guestions
as given in objective type question paper und leave others blank. No eredit will be awarded in case

RUBBLES are not filled. Do not solve question on this sheet of ORJECTIVE PAPER,
).No. |

() _ isthe strongest acid.
(A) HCEO (B) HCtO, (C) HCE, (D FICra,
(2] Group VI B of transition elements contains: -
(A} Cr. Mo, W (B) Zn, Cd, He (C) ke, Ku €l (12) Adm, Te, Re
3y set of hybrid orbitals has planar triangular shape.
(A} sp’ (B) ap* () sp (D) dsp’
(4)  Vinyl acelylene combines with HC# 1o form:-
(A} Polyacetvlene (B) Benzene (C) Chloroprene (1) Divinylacetylene
(5) During mitration of Benzene, the active nitrating agent is:-
(A} NO, (B) NO; (C) NO; (M) HND,
(6) __ isnotaNucleophile.
(A) H,0 (B) H.8 (C) NH, (D) B,
(7} Rectified spirit contains Alcohol about:-
(A) BO %% (B) 85% (C) 90 % (D) 45 %
(8)  Acelone reacts with JICN to form a cynohydrin, Itis an example oft-  (A) Nueleophilic addition
(B} Electrophilic addition () Nuelcophilic substitution (D) Electrophilic substitution
(9] Acetic acid is manufaclured by:-
(A) Fermentation  (B) Distillation (C) Ozonolysis () Esterification
(10h  Acetamide is prepared by:- {A) Heating Ethv] Acetate

(B} Heating Ammenium Acetate  (C) Heating Methyl Cyanide (D) Heating Acetic Acid
(11 polymers is an addition polymer.

(A) Polystvrene (B) Nvlon -6, 6 (C) Tervlene (D)) Epoxy resin
(12} Micro-nuinents are required in quantity ranging fron:-

(A)d—40¢ (By6—-200 ¢ (C) 6 200 ke (M4 40kg
(13) Ecosystem is a smaller unit of:-

(A) Atmosphere (B) Lithosphere (C) Biosphere (D)) Hydrosphere
(14} Keeping in view the size of atoms, _ worder 15 correct one.

(A) Mz = Sr {B) Lu = Ce (C) Ha > Me (D) C¢ =1
(15} Chile saltpetre has the chemical formula:-

(A) KNG, (B) Na,B,0, (L) NaNO, (D) Mo OO H O
(163 Tincal 1s a mineral of'-

A) Af (B) &i (£ (D) B
(17)  Laughing gas is chemically:-

(A) N,O (B) NO (C) No, (D) N0,

23(Ohj N Tr v TR T¥)-2017(8)-1600 (MULTAN)




2017 (8) Roll No:
INTERMEDIATE PART-IT (12" CLASS)

CHEMISTRY PAPER-I (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 3.10 Hours SUBJECTIVE MAXIMUM MARKS: B3

NOTE: - Write sume question number and its part number on answer book,
as given in the guestion paper,

SECTION-I

2. Attempt any Eight parts. 8x2=16
(i) Why Fluoride lon has bigger radius than the Fluorine Atom?
(i)  Why alomic radii decrease from lefi to right across a period?
(iii)  What is & Dehydrating Agent? Give examples to shaw that Lime is a dehydrating agent,
(ivi  What problems are faced by deficiency of Calcium in the plants?
(v) Write four uses of Sodium Silicate.
(vity  How will you convert Boric Acid into Borax and Vice Versa?
(vit)  What is the action of cold and hot water on Phosphorous Pentoxide?
(viti)  Why S50, is not dissolved in water in contact process?
(ix)  Why Oxyacids of Chlorine are stronger than Oxyacids of Bromine?
{x}  Why HF is weaker acid than HC/?
(%) Whal is Corrasion? How does the water affect this process?

{(xit) How lron is Galvanized in Daily life?

3. Attenpt any Eight parts. 8x2=16
(i) Write a short note on Cracking of Hydrocarbons,
(ii)  What are Homocyelic and Hetroeyelic Compounds? Give one example of each.
(i)  Write a short note on reactivity of Alkanes.
(iv) What is meant by Octane Number?
{v) Wiite a note on Friedel — Crafts Alkylation reaction.
(vi)  How will you prepare the following compounds from benzene in two steps?
(a) m — chloronitrobenzenc {(b) p = chloronitrobenzene
(vil)  Which is the best method of preparing Alkyl Halides? Give equation,
(vt} How Ethyl Magnesium Bromide is prepared in laboratory?
{ix)  Why Ethy! Alcohol is liguid and Methyl Chloride a gas? Explain.
{x)  How will you convert Methane! inta Fthanol?
(%1)  How is oil spillage affecting marine life?
(xit) What is Leachates?
4. Attempt any Six parts. 6x2=12
(1) How Methanal can be prepared? Give reactions oft- (a) Laboratory method (k) Industrial method

(i) How Ethanol can be prepared by Laboratory Method?
Why 1t is necessary to distilled off product immediately?

(i} How carboxylic acid can be prepared from Alkanenitril?
(1) Write two reactions of Carboxylic Acid in which Oxvgen and Hydrogen bond is hroken.

() How the Polymers are classified on the basis of process of Polymerization?
Give an example of each,

(vi) What is Sponification Number? Give its application.




(2)
{vi1)  Draw the parent nucleus of Steroids,
(viil)  How urea is manufactured? Give its reaction involved.

(ix) Define Cement. Write its composition.

SECTION-I1

NOTE: - Attempt any three questions. 8 x3=24
Sday  Cove two similarities and two differences of Hydrogen with group 1A elements. 4
(b)  Descrnibe commercial preparation of Sodium by Down's Cell. 4

6{a)  What happens when Orthoboric Acid reacts with

(1) O H,OH (i1} NaO{fi (111) M, OO, (iv) H.0 4
by Write important applications of Noble Gases. 1
Yla)  Write a detatled note on eracking of Hydrocarbons. -

(b} What do you understand by the term ff — elimination?
Explain briefly the £ mechanism with example. 4

8.(a)  Discuss any four methods of preparation of Alkanes.

(b)  What is Cannizzaro’s reaction? Explain its reaction mechanisim in detail. 4
Yia)  Write down four evidences which support Kekule's structure of Benzene, 4
(b} Explain with diagram industrial preparation of Methyl alechol. 4
SECTION-III (PRACTICAL

L0, Attempl any three parts, axd=15
(i) Write complete qualitative analysis for Zine radical in a systematic manner., 5
(i) Write complete gqualitative analysis for Potassium radical in a svstematic manner. 5
[iii) Write complete qualitative analysis for carbonate radical in a systematic manner. s
(ivd  How will you identify and confirm the carboxylic group in an organic compound? 3

(v Write the material required. equation and procedure for the preparation of
Copper Ammine Complex. 3

23-2017(8)- 453,  (MULTAN)




| Paper Code

- 17 (8 Roll No.

MNumber: 848 1 ‘ s i

"‘ INTERMEDIATE PART-II (12" CLASS)
CHEMISTRY PAPER-II (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for cach objective type question as A, B, C and D. The choice which you
think is vorrect, fill that cirele in front of that question number, Use marker or pen to fill the circles,
Cutting or filling two or more ¢ircles will result in zere mark in that guestion, Attempt as many questions

as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLLS are not filled. Do not solve question on this sheet of ORTECTIVE PAPER,
).No,1

(1) Statement _ {3 incorrect.

(1) All metals are good conductors of heat (B) All metals are pood conductors of electricity

(L) All metals form acidic oxides (D) All metals form positive ions
(Z) ___does not belong to Alkaline Earth metals.

(#1) e (B) Ra (C) Ba (I Rn
(3 _ metal is used in 'hermit Process because of its activity,

(/) Iron (B) Copper (C) Aluminium (1) Zine
(4)  The highest ionization energy is possessed by:-

(A) Nitrogen (B) Phosphorus (C) Antimony (12) Bismith
(5 ___isthe weakest acid.

(A} HF (B) HCY (C) HBr (D) HI
(6)  The total number of transition elements is;-

(A} 10 (B) 14 (C) 40 (D) 58
(7)  The state of hybridization of Carbon atom in Methane is:-

(A) sp’ (B) sp? (C) sp (D) dsp?
(8)  Formula of Chloroform is:-

(A) CHCY (B) CH,C#, (Cy CHCY, (D) CCE,
(%) _acid cen be used as a catalyst in FriedeCrafts Reactions.

(A) ALCE, (B) HNO, (C) BaC¥, (D) NaCi
(10)  ___ iz netanucleophile.

(A) 1,0 (B) #,§ (C) BF, (D) NH,
(11} compound shows Hydrogen bonding.

(A) C I, (B) C,H.C# (Cy CH,-0Q-CH, D) CH,OH
(12} will react with both the Aldehydes and Ketones,

() Grignards reagent  (B) Tollen's reagent  (C) Fehling's reagent (D) Benedict's reagent

(13}  Acetic acid is manufactured by:-

(A) Distillation (B) Fermentation (C) Ozonolysis (13} Esterification
(14)  _ enzyme brings about the Hydrolysis of Fats,
(A) Urease (C) Maltase (C) Zymase (D} Lipase
(13)  Phosphorus helps the growth of:-
{A) Root (B) Leave (C) Stem (1)) Seed
(16)  The main pollutant of leather tanneries in the waste water is due to salt al>-
(A) Pb (B) Cr{vi) (C) Cu (D) Cr(ir)
(17} Newspaper can be recyeled again and apainby _ {imes.
(A) 2 (B) 3 (C) 4 (D) 5

23(0h) (20178 5 3o (MULTAN)




i Paper Code

; 2017 (5) Roll Ne.
Number, 8483 { _ ; .
= INTERMEDIATE PART-II (12" CLASS)

CHEMISTRY PAPER-11 (OLD SCHEME) (SESSION 2012-2014)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the cireles,
Cutting or filling two or more cireles will result in zero mark in that question. Aftempl as many gquestions
as givew in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,
Q.No.1

(1) enzyme brings about the Hvdrolvsis of Fats.

(/) Urease (C) Malrase (C) Zymase (D) Lipase
(2} Phoesphorus helps the growth of-

(A) Root (B) Leave (C) Stem (D) Seed
(3)  The main pollutant of leather tanneries in the waste water is due to salt of:-

(A) Pb (B) Cr(¥7) (C) Cu (D) Cr(I)
(4)  Newspaper can be recyeled apain and again by  times.

(A) 2 (B) 3 (C) 4 (D) 5
(5)  Statement iy incorreet.

(A) All metals are good conductors aof heat (B) All metals are good conductors of electricity

(C) All mewals form acidic oxides (D) All metals form positive ions
(6) __ doesnoi belong to Alkaline Earth metals.

(A) Be {(B) Ra (C) Ba (D) Rn
{7} _ metal is used in Thermit Progess because of its activity,

{(A) Iron (B) Copper (L) Aluminium (D) Zinc
{8)  The highest ionization energy is possessad by:-

(A) Nitrugen (B) Phosphorus (C) Antimony (D) Bismith
{93 s the weakest acid.

(A) HF (B) HC? (C) FBr (D) HI
(1J)  The total number of transition elements is:-

(A) 10 (3 14 (C) 40 (D) 58
(11)  The state of hybridization of Carbon gtom in Methane is:-

(A) sp’ (B) sp* (C) sp (D) dsp*
{(12)  Formula of Chloroform is:-

(A) CH,C¥ (B) CH,CE, (C) CHCE, (D) €C*,
(13) ___ acid can be used as a catalyst in Friede—Crafis Reactions.

(A) ALCE, (B) HNO, (C) BaCt, (D) NaC#
(14) ____ isnotanucleophile.

(A) H,0 (B) 1,5 (C) BF, (D) NH,
(15) ___compound shows Hydrogen bonding.

(A) C 0, (B) C,H.Ct (C) CH, -O0=CH, (D) C,H,0H
(16) will react with both the Aldehydes and Ketones.

(A) Grignards reagent  (B] Tollen’s reagent (C) Fehling's reagent (D) Benedict™s reagent
(17)  Acetic acid is manufactured by:-
(A) Distillation (D) Fermentation  (C) Ozonolysis (D) Esterification

23(0b) ) 1A VE)-2017(S)- L35 (MULTAN)
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Number: 84 ®) ’ ?

INTERMEDIATE PART-TI (12" CLASS)
CHEMISTRY PAPER-11 (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that cirele in front of that question number, Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
43 given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled, Do not solve question on this sheet of OBJECTIVE PAPER.
Q.Mo.l
(1) The state of hybridization of Carbon atom in Methane 1s:-

(A) sp’ (B) sp’ (C) sp (D) dsp’
(2}  Formula of Chloroform is:-

(A) CH.CE (B) CH,CE, (C) CHCY {PIR S e
(3) _acid can be used as a catalyst in Friede—Crafts Reactions.

(A) AFCY, (B) HNO, (C) BaC¥, (D) NaC¥#
() _ 1isnotanucleophile.

(A)Y H,0 (B) H,S (C) BF, (D) NH,
(5) compound shows Hydrogen bonding.

(A) C.H, (B) C.H,.CF (C) CH, —O-CH, (D) C,H,0H
(6 will react with both the Aldehydes and Ketones.

(A) Grignards reagent  (B) Tollen’s reagent (C) Fehling's reagent (D) Benedict’s reagent

(7) Acetic acid is manufaciured by:-

(A Distillation {B) Fermentation (C) Ozomolysis (D) Esterification
(8) enzyme brings about the Hydrolysis of Fais
[A) Urease (C) Maltase (C) Zymase (1) Lipase

(9)  Phosphorus helps the growth of:-

(A) Root (B) Leave (C) St=m (D) Seed
(107 The main pollutant of leather tanneries in the waste water is due to salt of:-
(A) Ph (B) Cr(¥1) (C) Cu (D) Cr (1)
“(11)  Newspaper can be recycled again and againby  times.
(A) 2 (B) 3 (C) 4 (D) 5
(12)  Statement  is incorrect.
{ A} All metals are geod conduciors of hear (I}) All metals are good conductors of electricity
(C) All metals farm acidie oxides (12) All metals form positive ions
{13)  __ docsnot belong to Alkaline Earth metals.
(M) Be (B) Ro (C) Ba (1)) Rn
(t4}  metal is used in Thermit Process because of its activity.
{(A) lron {B) Copper (C) Aluminium (D) Zinc
(15} The highest ionization energy is possessed by:-
(A) Nitrogen (B) Phosphorus (C) Aatimony (L¥) Bismith
(18} 1% the weakest acid.
(A) HF (13) HC# (C) HRr (D) Hi

(177 The total number of transition elements is:-
(A) 10 (B) 14 (C) 40 (1) 5%
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J.No.1

(1) "I'he highest ionization energy is possessed by:-

(A) Nitrogen {B) Phosphorus (C) Antimony (D) Bismith
(2)  __ isthe weakest acid,

(A) HF (B) HC# (C) HBr (D) Hi
(3} The total number of transition elements is:-

{A) 10 (B) 14 (C) 40 (D) 58
(4)  The state of hybridization of Carbon ator in Methane is:-

(A) sp’ (B) sp’ (C) sp (D) dsp’
(5) Foermula of Chloroform is:-

(A) CH,CF (B) CH,C{, (C) CHCE, (D} CC¢,
(6) — acid can be used as & catalyst in Friede—Crafts Reactions,

(A) 4CH, (B) HNO, (C) BaCt, (D) NaC#
(7} _____ isnotanucleophile.

1A) H,0 (B) H,8 (C) BF, (D) NH,
{8) __compound shows Hydrogen bonding.

(A) C,H, (B) C,H.C¢ (C) CH, =Q=CH, (D) C,H,0H
() will react with both the Aldehydes and Ketones.

{A) Grignards reagent (B) Tollen’s reagent (C) Fehling’s reagent (D) Benedict’s reagent
(10)  Acetic acid is manufactured by:-

(A) Distillation (B) Fermentation {C) Ozonolysis (D) Esterification
(1) cnzyme brings about the Hydrolysis of Fats,
(A) Urease (C) Maltase (C) Zymase (D) Lipase
(12} Phosphorus helps the growth of:-
(A) Root (3) Leave (C) Stem (D) Seed
(13)  The main pollutant of leather tanneries in the waste water is due to salt of-
(A) Pb (B) Cr(¥T) (C) Cu (D) € (Hr)
(14)  Newspaper can be recycled again and againby  times.
{A) 2 (B) 3 (C) 4 (1) 3
(13) Statement is incorrect.
(A) All metals are good conductars of heat (B) All metals are good conductors of electricity
(C) All metals form acidie oxides (D) All metals form positive ions
(16)  does not belong to Alkaline Earth metals.
(A) Be (B) Ra (C) Ba (D) Rn
(17)  ____ metal is used in Thermit Process because of its activity.
{A) Iron (B) Copper (C) Aluminium (D) Zine

23(Ob)) (WU r)-2017(8)- 57, (MULTAN)




BOARD OF INTERMEIMATE AND SECONDARY EDUCATION,
MULTAN -
OBJECTIVE KEY FOR INTER {J";\HT-I 1) Annual Examination, 2017, @M)

Name of Subject {$E. ';gik (Qﬁ‘)ﬁ Session ﬂf 1’22 C“LLM’_%
Group:  Ist Sesrpn _(l?— 14) Group:  2nd

Q. Paper | Paper [ Paper | Paper | Q.  Paper Paper Paper | Paper |
Nos, | Code | Code gd.;‘ﬂ Nos. | Code | Code | Code | Code
| B4B) | 583 | e 8y 97 UyB1 | 4yp3 | 4485 |hyg 7
= el plald T-C’A!c_o__
I~ 1D Dble !B, | " e | B B4
*lel B a4 P "l plec|p|&
= 1Al b el | “lalelple
5. 4 L e | p ‘C_ . p o A B
D | D|p | A *lAalp A D
- | A |lec| g | "1 8|4 4B |
“ e | A4|D b | le|piA | A
_’”‘ AlA D A, | | B|lA|B|A
le  p1lB gl | % plelelB
1Al B, | Myl e leld
j-_,_ﬂ‘ll__ci_og A Blcl8
_‘;iﬂ,ﬁﬂp 8 AP ple
15 C | c D - 1. B D ﬁ C.—
ﬁl‘ P Ale L tlAalalp]e
= | B/LA A b, | “lB|lAA]|D
rlb'e bl ["lelsiB[A
I | 8 |
ST | LN |

I{Ey;_ﬁ/LZ;;,_JiyiayL\_,-g”f
S e § 2017 15T 22 frﬁ}J m o “l oy

Jfffjﬁi‘-’{félr.ﬂ.r_b ' Set L,il_’l.::f._,r"i_u 2Lt LJf._ISJ_, ﬁ“f(SubJectwu & Objevtive)
(Syllabus) ¥ o L—"‘:'_t.a..-wl!v- LU Version. :;.La.f..ﬂ;, Verssundx..*i.mu'igz.ﬂrgﬁ.r_.ruﬂ

S ..#:J(‘Uf h J'Jl-«'—.jf LICRER ~~f—d'-1.f Fadfeaf ‘fﬂw-m.a el
_:‘_._hlgl-(ey.,::fuugbmrb SO T BTV o) = S YO o LIS Y ﬂu“‘};.r_b;}{ey;r"f e

PREPARED & CHECKED BY
SrNo Name Designatian  histitution Mobile No. Signature.

A, Bian M-Navaz  Boncipe)  Gouk. Cotlie Misachanmu. o

S MM 2 Lol AU fand ASto #’3? o ‘%Nw“ \_‘%/j_.}
ahz_; i o ;

3. M -!M;i/.ﬂ.aizwf AL &wgﬁ’a H.Z =3 _5?_-’,_.,.

o PLolEdwler AR Ggﬂ_&mﬁmﬂ U Hﬁ;—« B

5. M. Naegyn Arvcdad Ase/f BT S 2 Q%ﬁ-’l{




	0037.pdf (p.1)
	0039.pdf (p.2)
	0041.pdf (p.3)
	0043.pdf (p.4)
	0045.pdf (p.5)
	0047.pdf (p.6)
	0048.pdf (p.7)
	0049.pdf (p.8)
	0051.pdf (p.9)
	0053.pdf (p.10)
	0055.pdf (p.11)
	0057.pdf (p.12)

